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2 fuskAdksk (2)| 8200 1,3000 980 2,140) 2,610 3,790 ||E2fusEsak=(2) | 5500 880 1,100 1,430 1,980 2,530
%3 4HE (1) 820 1,320 1,200 2,140 2,970 3,790 |[#32#=(1) 550 880 1,100/ 1,430 1,980 2,530
%3 oHE(2) 820 1,320/ 1,200 2,140 2,970 3,790 |[#32#==(2) 550 880 1,100/ 1,430 1,980 2,530
54 L= 820 1,320/ 1,150 2,140 2,970 3,790 ||[#4=wm== 550 880 1,100/ 1,430 1,980 2,530
55 REE 820 11,3200 1,150 2,140 2,970/ 3,790 |[Fb=ik= 550 880 1,100| 1,430 1,980 2,530
K& (1) 1,3200 2,140 1,810, 3,460 4,780 6,100 |[RFjRsxik=s (1) 880 1,430/ 1,760 2,310/ 3,190 4,070
s A (2) 600 8100 770/ 1,630 1,630 2,450 ||[EREISEes(2) 550 880 1,100] 1,430 1,980 2,530
A = 1,980 2,470) 2,970 4,450/ 5,440 7,420 |[&F3eE= 1,320 1,650 1,980 2,970 3,630 4,950
A R 1,320 1,970/ 1,480 3,460 3,960 5,930 |[Zasfsiy = 880/ 1,430 1,760 2,310 3,190 4,070
R {5
1 ABEEZEHT2H4E. 1THBICOX RO LB MET 5, 1 BBEEEZEMTIHEAIR. 1HHC S RO LB MET 5,
(1) KRA—n 1,320H (1) KA&—nr 1,320
(2) HhFE—, HERA—L 550 (2 HA—, HEERFA—L 550
(8) *ofh 1651 (38) Foff 165M

2 AEEOMHEBHEMOFEIZHOW T, 300K IXE Y T, 30
UL EIF 1R E LTIV D LT 5,
3 WA EEEIEL

RKE—IWZEZFHER (FXTRHICEFRZEET 2 EIEATHTAICE
BRZET5HAERTEAZV S, ) UNOENEAT LBEEE.
EXFERHIZ100/ 88—t FENEST S,

2 BEEOMEHEMOFHEICHOWTIL, 300 RMEITU 0 T, 30
SUL B 1TEME L TRV bDET 5,
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4 ABHEEIREIEL
AXE—IOFERICEVWVTABHEZEY 556, EXERE

S50/ 83—tV FEMET S,

5 FRHEEE=E. V77 FNEROEEHZEON ADHHOBHEIL,
1= 1 IO E4H40MHE2MNMET 5,

6 REEEZF2EICHUITEATIESIE. EXEABO 25D
1DEET S,

7 AFIITHAER L O T EEBLE ST,

3

TELENE, 777 NEROAEERFEDO T ADMFHOEEIX.
1= 1EIZS> X440 A2 IE 4 5,

BRI ITHE R L O BB 2 & T,

ERMIBHMAREESRN (FRI0ESHHEHFEIMS)

(%1 0 £BER)

o IH
BIFE (8115, #F135:E91%) BIFE (1155, F135:E91%)
AR i e GFE (1RFAR2Y) AR Jif S (IR E)
EEARIE 160H) | 55 1Fn= 220M
EEPXIE 160H| | FF2Fn= 220M
EERYIE 100H| | [ 3Fn= 110H
1R 330A| | [B1oiE=E 220M
EPE 100A| | F2sik= 110M
EHMEZTUVESESH (FRITESHHTEHEFEISS) (F 1 55FE1R)
b [5]
B (F125%. #145<E91%) IR (F5125%, #145<E91%)
X4y KX | X4y AR
FRT10MED 5 FET12WE D & ERI10MED 5 FRT10ME D 6 FRI12HED 5 FRT10FE DN &
FRI12HE £ T 1% AR £ T FHealF £ T FRI12HE £ T b4y £ © Ptk 4ls £ C
PN 220H 470H 680 | &K= 220H 660 880H
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